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A. host

B. facility
C. console
D. severity

Correct Answer: A

QUESTION 152
Which two statements describe the connection between control plane and the forwarding plane?
(Choose two.)

A. No rate limiter is configured by default

B. A rate limiter is configured by default

C. Exception traffic is preferred over the control traffic during congestion
D. Control traffic is preferred over the exception traffic during congestion

Correct Answer: AD

QUESTION 153
Which two interfaces are considered as physical interface? (Choose two.)

A. xe-1/1/1
B. ge-2/0/2.0
C. et-5/0/0
D. ae1.1

Correct Answer: AB

QUESTION 154
What are three functions of the RE? (Choose three.)

to maintain the forwarding tables
to enforce stateless firewall filters
to manage the PFE

to monitor the chassis

to implement policing

moowy

Correct Answer: ABD

QUESTION 155
You are performing the initial configuration of an SRX Series device. What must you set before
the device will allow you to commit your configuration?

A. management interface
B. systemtime

C. hostname

D. root authentication

Correct Answer: D
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QUESTION 156
Referring to the exhibit, which statement is true?

A. The customer has set the version parameter to automatic.
B. The customer has not enabled security for BFD.
C. The customer's link will failover in nine seconds.
D. The customer's link flappedd within the last hour.

Correct Answer: D

QUESTION 157
Which two statements are true regarding dynamic routing? (Choose two)

A. Dynamic routing is used when absolute control of routing parameters is necessary
B. Dynamic routing allows a device to automatically reroute traffic around a failure

C. Participating devices dynamically learn routing information from each other

D. Dynamic routing requires more administrative overhead than static routing

Correct Answer: BC

QUESTION 158
What are two examples of transit traffic? (Choose two.)

A. SCP traffic that is destined for the router's loopback interface.

B. SCP traffic that enters one interface and exits another interface on the local router.

C. SFTP ftraffic that enters and exits the same interface on the local router.

D. SFTP traffic that enters one interface and is destined for another interface on the local router

Correct Answer: AD

QUESTION 159
What are two default password requirements on devices running Junos OS? (Choose two.)

A. Passwords must be at least six characters in length.

B. An expiration date must be set.

C. Passwords must contain at least one special character.
D. Alphanumeric characters classes must be used.

Correct Answer: AD
QUESTION 160

You notice traffic destined to 172.31.17.0/24 is traversing an OSPF path rather than BGP Path.
What is causing this behavior?
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userfrouter> show route
inet.0: 5 destinations, 5 routes (5 active, 0 holddown, 0 hidden)

+ = Active Route, - = Last Actiwve, * = Both
10.210.0.0/16 *[Static/5) 1wl0d 20:17:39

> to 172.25.11.254 via f£xp0.0
172.18.6.0/30 *[Direct/0] 00:00:30

> wvia ge-0/0/0.0
172.31.20.0/24 *[BGP/170] 00:00:24, localpref 100

A5 path: &5000 I, validation-state: unverified
> to 172.18.6.1 via ge-0/0/0.0
to 172.18.7.1 via ge-0/0/1.0
[BGE/170] 00:00:24, localpref 100
AS path: €5000 I, wvalidation-state: unverified
> to 172.18.7.1 via ge-0/0/1.0
172.31.17.0/24 *[QSPF/150] 00:00:25, metric 1
> to 192.168.11.2 via ge-0/0/4.0
[BGF/170]1 00:00:24, localpref 100
AS path: €5000 I, validation-state: unverified
> to 172.18.6.1 via ge-0/0/0.0
to 172.18.7.1 via ge-0/0/1.0
[BGE/170] 00:00:24, localpref 100
AS path: €5000 I, validation-state: unverified
> to 172.18.7.1 via ge-0/0/1.0

The 172.31.17.0/24 BGP route is missing a valid default next hop
The 172.31.17.0/24 BGP has a higher route preference

The 172.31.17.0/24 route does not have a valid BGP entry

The 172.31.17.0/24 BGP route's outgoing interface is down

oOw>

Correct Answer: B

QUESTION 161
Which command will completely turn off a Junos device?

A. request system halt

B. request chassis fpc offline
C. request system power-off
D. request system recover

Correct Answer: C

QUESTION 162
Which two statements describe PFE functions are true?

A. The PFE implements rate limiting using policers

B. The PFE stores the master copy of the layer 2 and layer 3 forwarding tables
C. The PFE provides access to the CLI and Jweb

D. The PFE stores a local copy of the layer 2 and layer 3 forwarding tables
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Correct Answer: AD

QUESTION 163

Click the Exhibit button. A user attempts to log in to a Junos device, but the RADIUS server is
unreachable. Referring to the exhibit, what is the default action of a Junos device in this
scenario?

The Junos device retries every 30 seconds until the connection is restored.
The Junos device uses the local authentication database.

The Junos device displays a RADIUS connection error.

The Junos device prompts for a cached RADIUS password.

cow»

Correct Answer: C

QUESTION 164
Which two firewall filter actions will affect a packet's class-of-service setting? (Choose two.)

A. scheduler

B. queue

C. forwarding-class
D. loss-priority

Correct Answer: CD

QUESTION 165
Which logical interface is able to forward IP traffic?

A. Ge-0/0/0
B. Ge-0/0/2
C. Ge-0/0/2.0
D. Ge-0/0/1.0

Correct Answer: C

QUESTION 166

You have the policy configuration shown in the exhibit applied to your BGP peering. You find that
your customer routes coming from the 10.1.1.0/24 network are being rejected. Which command
should be used to correct the problem?
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A. [edit policy-options policy-statement my-policy]
user@router# insert term 1 before term 2

B. [edit policy-options policy-statement my-policy]
user@router# insert term 2 before term 1

C. [edit policy-options policy-statement my-policy]
user@router# copy term 2 to term 0

D. [edit policy-options policy-statement my-policy]

Correct Answer: B

QUESTION 167
What is a valid IPv6 address?

A. 00:05:85:23:45:67

B. 127.0.0.1

C. 2001:0db8:3000:2215:0000:0000:aaaa:lll
D. 49.0001.0192.0168.1001.00

Correct Answer: C

QUESTION 168
Which statement is true about default route preferences?

A. RIP is lower than RIPng.

B. OSPF AS external is lower than OSPF internal.
C. Direct is lower than Static.

D. IBGP is lower than EBGP.

Correct Answer: D

QUESTION 169
You recently uploaded a new software package to your Junos and you want to ensure that the file
uploaded successfully by verifying the file size. In this scenario, which command should you use?

A. file checksum shal
B. file compare
C. file list detail
D. file show encoding

Correct Answer: C
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